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BEAYE . Significant figures
m & Yector

[ RF : Vector sum

] &N Vector addition
¥ . Vector difference
MEfk S - Magnitude of vector
A # : angular quantities

7 : Resul tant

E# : Definition

=B » 8% . Length , standard
kB : Center of oscillation
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il & | Scalar quantity
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M . Spring balance
F-% : Interference
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$E % . Reference system

falg : Fixed stars

BREEEMN: Coefficient of static friction
( #% : Friction )

BEEEN : Coefficient of kinetic friction
B : Hover-craft

HEE—E®: Newton's first law
HHE M : Newton's second law

AR =8 : Newton’s third law
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2—-1 BEABROFERLANEE -—X4NWE ARATANDTF
(@A downward force of magnitude 4 N is exerted on the book
by Earth,
(An upward force of magnitude 4 Nis exerted on book by
the hand, .
{c)Is the upward force (b} the reaction to the downwaid
forc={(a ¢
#%: Yes
{d) The reaction to force (@ is a force of magnitude 4 N
exerted on book by hand, Its direction is upward,
() The reaction to force (b)is a force of magnitude 4N
exerted on book by Earth, Its direction is downward,
(f) That the forces (4) and (b) are equal and opposite is an
example of Newton’s first law
(@ That force (b)and () are equa! and opposite is an example
of Newton's third law
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